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FART - A (General Knowledge) ]

1.

10.

11.

12.

Mario Miranda is well known as a-

(\) Editor (B)  Story writer

(C)  Cartoonist (1) Politician

India has joined the Thirty Metre Telescope (FMT) project, the next generation
astronomical observatory that is scheduled to begin scientific operations in 2018 in-
(A)  Hawaii (USA) (13 Tepucigalpa (Honduras)

(C) Managua (Nicaragua) (12) Havana (Cuba)

The biggest planct in the solar system is:

(A)  Jupiter (B)  Saturn
(C) Uranus (D) Venus

. The first satyagraha campaign of M.K. Gandhi was started at-

() Champaran (B) Bardoli

(C) Dandi (13) Baroda

Who convenes the joint sessions of the Lok Sabha and Rajya Sabha?

(A) The Speaker (B) - The Chairman of the Rajya Sabha

(C) The President (1D) The Minister of Parliamentary Affairs

The first definite step to provide Parliamentary control over East India Company was taken
by-

(A) The Regulating Act, 1773 (B) The Pitt's India Act, 1784
(C) The Charter Act, 1793 (D) The Charter Act, 1813
Who is called as the 'Father of Indian Cinema'?

(A) Dadasaheb Phalke (B) Hiralal Sen

(C) Jamshedji Framji Madan (D) H.S. Bhatavdekar

The famous Chinese pilgrim Fa-hien visited during the reign of-

(A) Chandragupta [ (B) Chandragupta II

(C) Ramagupta (1D) Srigupta

Artificial application of water to the crop plants is known as irtigation which is measured in
terms of-

(A) Hec.em ‘ B) Heem

(C). “Cusec/sec (D) TMC

What are the official languages of the UNO?

(A) Fnglish, French and Russian (B) Lnglish, French, German and Russian

(C) English, IFrench, Russian, Chinese and (1D) English, French, Chinese, Russian, Arabic
Hindi and Spanish

FINA is the governing body of which sport?

(A) Cricket (1) Water Polo

(C) Chess (13) Archery

Which of the following countrics topped the medals tally in the 2016 Olympic Games?

(A)  Great Britain (B)  China o
() USA 1D) Russia .::f
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13.

14,

15.

16.

17.

18.

19.

20.

21.

23.

24.

25.

[=1s]

Sabin Award Is given for the conservation of-

(A Amphibians (B)  Reptiles
() lovertebrates (D) Corals
Complete the series,

XYA, UVB, RSC, OPD, ?

(A) LI B) LMF

(C) MNLE 1) MNF

Which of the following is the highest plateau in the world?

(A)  Colorado platean (B) Pamir plateau

(C)  Patagonian plateau (D) Potwar plateau
The origin of Beas river is:

(A) Veri Nag (B) Rohtang pass

(C) Kailash (D) Man Talai placiers
The name of an clectronic wallet which Tech Mahindra launched is called-
() Mobile Money (B) Mobo Money

(C) Smart Money (D) None of these

Who among the following was the Chaitman of the Union Constitution Committee of the

/

Constituent Assembly?

(A) B.R. Ambedkar B) J.B. Kripalani

(C) Jawaharlal Nchru . (D) Alladi Krishnaswamy Iyer
The State tree of Meghalaya is- ‘

(A) Burans (B) White teak

(C) Alstonia (D) Palmyra palm

Madhya Pradesh shares its border with how many States?
(A) 3 ®) 4

@ > D) 6

Titan is the largest natural satellite of which planet?

(A) Mercury (B) Venus
(C) . Satuen (D) Neptune

. If'INDIGENCE' is written as 'DNIEGINCE', in a certain code then, how is

INDIRECTS' written as?

() STCERIDNI ‘ (B) TDRCSNIET

(C) DNIERICTS (D) NIIDERTCS

What is the expansion of VAT?

(A) Value Added Tax (B) Value After Tax
(C) Value Against Tax (D) Value About Tax
Which acid is produced when milk gets sour?

(A) Acetic acid ) (B) Tartaric acid

(C) Lactic acid ‘ (D) Butyric acid

In which Upanishad are the words 'Satyamev Jayate' found?

(A) Chandogya Upanishad (B) Prasana Upanishad
(C) Isa Upanishad (1) Mundaka Upanishad
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7 r PART - A (General Knowledge)

1. ardar done ™ Q6 DOABVL,
L () 228 (13) 96 geb
©) sy (D) radandgen

!\.)

20186°___ &' 2ot3d8 seefsrodrom ot siuRd) DTG 8do RV DOYLM Frésh wonid ¢l b,
83,5 (TMT) & aroddso 86087
(AA) drorow (USA) (B) edrgomrgoy (Hfocosh)

(C) drgrrd (Iseorrbar) (D) rarme (drger)
3. ¥ Heowod™ ©d 1Y fro :

(A) adebd (B) #diro

(C) atwdaS (D) D35

4. M.K rrod dwt 2wae deryddr pado Qg FoorDoos -

() SoreS @) ofo
©) &0 D) ex8ce
5. &6 23, cagoze s d dArdTI) DK Doryend Jh?
(A) Dys6 B) vaps poyd
© D":g:oa (D) rgavotb dyvirore H0d
6.v &9 Rodair AP FEWotih Vabodn SEHBr DLINEL 36§ 3 argo> o) -
(A) BrgFohs asr§, 1773 (B) ¢Sy wodasr otr§, 1784
(C) ogb asr§, 1793 (D) eg6 atr§, 1813
7. 2383 ‘erddab dIBr &' i DY otrd:
Q) oS ) B) wroerd B
(©) zong b o (D) FLS. eroradshd

8. 1dG PordY AWrODE F-ird 50 Frud HAVS’ VdBERL,

(A) Sogryn 1 ' () sogrog 1l
(©) waos (D) g
9. Dot Ao AWM VW vodod ROAND I Do 98 .

(A) Hec.cm (B) Heeam,
(C) Cusec/scc (D) TMC

10. UNO g, ©65°08 aren 0?7,
(A) =0, Dod Hbaky GED (13) mofidy, Dod, 205 Bbosw Gy
(C) oA, Rod, 61D, BAD éasw Wrod (1D) @ofiD, Pod, PRY, 610, W6HE Hban IDD

11. FINA 038 9 ese0d dabodod }‘00‘{8?
(A) 865 () oreb "

(€) 3% (12) ese6
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22

2016 LodS Hﬁobtb" & dvrod’ O B¥o e D DA FBodod?

() 8 Qs
(©) e

g, Retln F3H FDD vrH RBLEBB-
() agabaoren
(©) wsiwsw

DO Y.

XYA, UVB, RSC, OPD, ?
(\) LME
(©) MNE

LOoSeS ©3 IS Dogr D6?
() Sool boar

(C) DOFJ0DHS DEZED

Daird 38 dE & pod?

Q) d8>rh

- (© zoa

88 lroge erof BDD JOFPIE TS DO ___.

(A) 0sS 2D
(©) g 20

(B) pre
) Xy

(B) 2bydren

(D) Bricren

(B) LMF
(D) MNF

(B) D06 Sosrn
(D) Sresard Hozird

" (B) Gureroh gRo2

D) 203 8@ GRonby

B) a5es® D
D) ad d ==»

BH3TBS’ IS Trarfols w6 aog), cbrdaLD AR ES 8 dwg), PER?

(1) B.R. 00836
(C) 23076 v D3
wRre oD wg Sydo:
() ewomy®
(C) wdTDdotr
DEHETO ) Uvgvé‘ RO &od?
(A) 3
© 5>
Serd ©38 D firo dwe), v &DGIr?
(4) 20a6 _

(C) 32370

(B) JB 535"9‘:0
D) were g @036

®) 265 68
(D) oo oo

u€ AP §ES° wedv INDIGENCE ‘DNIEGINCE’™ oeddtand, INDIRECTS’ 2 Jer

o d?

{\) STCERIDN]
(C)y DNIERICTS
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23. VAT alwg), Qr§ drdo d28?
(V) daryg 038 trhy (1) Dy wid tré
(©) darg FY &by (19) Dy eoeth erdy
24, d>ew DIVIYYE D aRDE DS Bed?
() D2OS ard& (1) ererob airié,
(©) g8 ardé (1D) eargt306 asiod,

25. O adA[GS Do wabd’ azmyan?

(A) So8d5 a0I0S (13) Drioid cioDad
Q) 2 abdas (1D) Bwodd avdad

PART - B (M:Iiilclllzlli;'_li_)--- A U

26. A man can swim downstream at 8 km /hr and upstream at 2 kin/he, Find the speed of

current.
() 2km/hr (B) 2.5 ki/ht
(C) 3 km/hr (1) 4 km/hr

27. What is the difference in the production of food grains between 2010 and 20137

Production of faed grains by a State over the years
(1000 tons)

80
80 7 B
70 B
00 6—5~

60 m

50 " 50

40 R ] W

30 55

20+

10

2008 | 2009 | 2010 ' 2011 T 2012 7 2013 | 2014 ' 2015 !

(A) 10000 tons ’ B) 15000 tons
(C) 500.tons (D) 5000 tons

28, If the height of a pole is 2/3 metres and the length of its shadow is 2 metres, find the angle
of elevation of the Sun.

]
C 21n A
(A) 30° (B) 55 I
(C) o0° (1) 70° o)

Pa
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30.

3L

32,

33.

34.

35.

306.

37.

Page 8
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Find the remainder on dividing 15625 by 41.

(Cy 5 Dy 9

Find the arca of a triangle having sides 3 m; 4 m and 5 m.
(A) 6m? By 12 m?

() 16 m? (D) 18 m?

J2a 412 =2

(A 36 B 2J6+23
©) o2 D) 288

Out of 40 students in a claﬂu’nnly - students were present in a day. Find the number of
4
absentees on that day.
(A) 5 B) 10
e 12 (D) 20
Evaluate: logz 27 4
(A) n=1 ) n=2
(€C) n=3 - (D) n=4
A suitcase of Z 240 is sold for ¥ 202. Find the rate of discount.
5 5
)y 15="% 15=%
(A) p (B) 3 (0
5 1
©) 182% o) 1821y,
8 50
Surcsh and Mahesh together invested 12000 in a business. At the end of the year, out of a
total profit of Z 1800, Suresh's share was 750, What was the investment of Suresh?
(A) T4800 (B) T 5000
() 5500 (1) %5900
Reduce -‘-3—9—1 to Jowest terms.
67 ’
17 17
(N By —
\ B 5
19 29
. o P 1
) 57 L) 17
” 5.,
Express 3 in terms of percentage.
2 2
Ay 116—=Y% 3 126="%
(Y) 3 s s
; 2 2
) 1% (1) 1663%



38.

39.

41.

42.

43.

45.

46.

47.

Find the least number which when divided by 20, 25, 35 and 40 Jeaves the remainders
14, 19, 29 and 34 respectively.

(A) 1197 (B) 1280
(Cy 1394 (D) 1462
Simplify:

5005 - 5000 =~ 10

(A) 4005 (1) 4105
(C) 4505 (1) 4705

On what sum of money lent out at 9% per annum Simple Interest for 6 years does the
Simple Interest amount to T 8107
() T700

©) 1500

(B) T1300
(D) T1800

The value of 0.5 + (0.75 x 0.5 - 0.4) is:
(A) 0275
(Cy) 0475

B) 0.375
(D) 0.575

Find the average of all the prime numbers between 30 and 50.

() 267 B, 28

(G} 325 (D) 39.8

By selling an article for Z 450, a man loscs 25%. At what price he will sell in order to gain
25%7?

(A) T520
(Cy %980

B) Z750
(D) T 1800

Find the distance covered by a man walking for 12 minutes at a speed of 3.5 km/hr.
(B) 600 mctres
(D) 800 metres

(A) 500 metres

(C) 700 metres

One side of a rectanguiar ficld is 15 m and one of its diagonal is 17 m. Find the area of the
field.

(A) 110 m? (B) 120 m?

(C) 125 m? (D) 130 m?

The ratio between two numbers is 3 : 7. If their LCM is 210. Find the numbers.

By 30 and 70

(A) 15and 35
5 (12) 70 and 30

(C) 45and 75
In the given figure, ABCD is a parallclogram in which £BAD = 75° and £ZDBC = 60°.
Calculate: £CDB

D C
. 60’
78
A B
(\) 45° (B) 55° o)
(Cy 65° (1)) 75° F;f
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48. Mithun and Monal can do a job alone in 20 days and 30 days respectively. In how many
days will the job be finished if they work together?
(\) 7 B 8
© 1 () 12

49. Mithra obtained a loan of € 5000 against some sccurity. If the rate of interest is 2.5% per
annum compounded annually, find the amount paid by her at the end of third year.
(\) XT538L45 (B) ¥ 5795.35
(€) 623595 (D) T7963.25

50. One tap can fill a cistern in 2 hours and another tap can empty the cistern in 3 hours. How
long will they take to fill the cistern if both the taps are opened?

() 5 hours (B) 6 hours
(€) 7 hours (1) 8 hours
PART - B (Mathematics) J

26. 28 20 D8 8D T Fod” 8§ 45/ Ko wBaky DB RTINS dddorr 2 %/ Mo Jed etiuw. DS
2T ey SRR dod.

(1)) 28v/60 (BB) 2.5 28/ do
(©) 3 &%/60 (D) 4 8%/ro

27. 2010 2o8ak» 2013 206y 986 Grarge 68\aS" Ao Jod?

RoIS\TELIIT TPy W30 PR GG

(1000 LSy )
80

80 o []

70~ - ]

60 60 1

4904 X

307,

20-

10

0 2008 | 2009 ' 2010 ' 2011 ' 20127 2013 ' 2014 | 2015 !
(<Y) 10000 exxoye (B) 15000 xoye
(C) 500 waye ' (D) 5000 exsoye

28. 2.6 gosan Tedy 243 Hd Sbate He Fay 2 Db wawd, Rrdy Ag), &) 8 E'no SRR,

B
2\/@&:&@
]
¢ 2 Db A
S :
By (\) 30° (B) 55°
& () 60° (D) 70°
&
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29.

30.

31.

32.

33.

34.

a5,

36.

37.

15625 2 41 & zrAoDJ 3BV EDRBE.
(A) 1 (B) 4
© > @) 9
3 5, 4 S 20bakn 5 o shadvent Ho wE Jrba pTUY) S .
(&) 6 &° . B) 12 &°
© 16 &° D) 18 &*
V24 +\12 =2
@) 36 ®) 2J6+23
©) o2 D) /288
wg T ad 3610S° 40 08 Dms%weS’ % Doy Iasairyh. & e SFam 52 T8 Doy
g dod.
(&) 5 @) 10
©) 12 D) 20
Sarerrgosdo Sabod: log; 27 ,
(A)n=1 B) n=2
(C) n=3 D)yn=4
T 240 do 28 7wres Sdo T 202 o8 v nais. G ol Tl SfFdod.
@A) 152% @) 15%%
5 ‘ 41
C) 18=% 18 —%
(©) 182% | D) 18_-%
WBa dbaby Wirh $9R wé ar§rted’ T 12000 BepLE DEED. VoddGe J0ADES’, DY o
Z 1800&°, #08a orexr T 750. 089 :aeg.mc‘. dodd?
(A) T 4800 B) Z 5000
(C) Z 5500 (D) 5900
391
— J YD dores’s Bhodod.
17 17
@ 5 ® 5
19 20
© = 2 )
57 ®) 1 %
U
; D wdoS dwdod. 5“0(
2 7
(_\) 11():0’0 (B) 126=%
JD 2)

. 2 .
G e D) 166=C%
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38.

39.

40,

41.

42.

43.

44.

45.

46.

47.

Page 1 2

20, 25, 35 rdao 40 & grhodapyd ddRm 14, 19,29 380t 34 $2ren @iy €3 Lowg SRR dod.
(A) 1197 (B) 1286
() 1394 D) 1462

Rurd) 800 Sod:

5005 - 5000 + 10

() 1005 B) 4105
(€) 4505 D) 4705
203610708 9% Ferdn & 6 veddyTrot HwhRd) Fod o) 2ndo T 810 wperea?
(A) 2700 (B) 1300
(€) T 1500 (D) % 1800
0.5 + (0.75 x 0.5 - 0.4) dewnad:
() 0.275 B) 0.375
(€) 0.475 (D) 0.575
30' 28atw 50 2065 0 PO Dopge DL s.mﬁ’aoe..l
(\) 26.7 (B) 29.8
(€) 325 (D) 398
T 450 0w 28 3D wA Lo Ty, al 858 25% snDaird. 25% ergo FodeeS W) TN Jod
GO 0 d?
(A) T 520 B) 2750 q‘) _ 4
(C) Z980 (D) T 1800 rgs’“‘ A
& W
3.5 850 /to Briod’ B3 35§ 12 DDudren HAH 0o HADS Aroedy S Sed. % ARy
(A) 500 otag (B) 600 e N V(Qr/\
(C) 700 ot ' D) 800 v

w8 B¢3606Fs°6 Fdo e, T 15 o batd oD dwE), »8 ¢do 17 2. & £go wng), dwoge
SR0FJod.

(A) 110 &y* / B 120 &°* 3/@%)//?5‘7/
©) 125 &° (D) 130 &° )\@S’V
Bot DHoage M6y Dayd 3 : 7. 508 LCM 210. e Ddopgod sF Do,
() 15 Sob6osw 35 B) 30 sweatn 70
(C) 45 Bo8o3n 75 (D) 70 &obasn 30

adedd god’, ABCD wg daross Sdodyme Ro®S’ LBAD = 75° mwsain 2DBC = 60°.
gg)ousod: LCDB r

/
L, x g
0 s 25
0° U0 9
o5 60 u/ ,a o |Q
A B vV
(A) 45° (B) 55° )LVV WO
(€) 65° (D) 75°
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D Dby RS wl DD SLIM 20 Faven o 30 Fared’ rs Sabrom. 76 agdr 3D

48.
HABDIDYE @ DI IV Ferod’ 78 Savrod?
(A\) 7 (B) 8
©) 11 (D) 12
49. Eod dered b3 g T 5000 G0 Foords, 3¢ B DodBTS 2.5% 36,638 eond, Jur> VodeyGo
D36 & 3YoDd 2o Jos?
(A) Z 5384.45 B) % 5795.35
(C) T6235.95 D) T7963.25
50. a8 Doty wd S8 2 oy’ Dodrwth BBty @oSd Do S8 3 fobed® ard Sabreoch. ot Dolpen
300 6003 F'B Jotkerdd Jod HI>ADO BEIBLLE?
(A) 5 Hotorres® (B) 6 sotoeres®
(C) 7 dotrexs® (D) 8 roreres®
[ PART - C(i) (English)
51. Choose the correct alternative which will improve the quoted part of the given sentence.
I 'have been waiting' for neatly two hours.
(A) Am waiting B) Wil waiting
(C) Were waiting {D) No improvement
52. Choose the MISSPELT word.
(A) Crescent (B) Express
(C) Domineer (D) Ferous
53. Choose the correct preposition from the given options to complete the sentence.
The workers were agreeable her suggestions.
(A) For ) B) To
(C) By (D) The
54. Choose the correct verb from the given options to complete the sentence.
She the apple tomorrow.
(A) Had been ecating B) Wil eat
(C) Eats ' (D) Ate
55. Use the appropriate article for the sentence given below.
lion is a ferocious animal.
(\) A (B) An
(C) The (D) No article
56. Choose the alternative which best expresses the meaning of the idiom/phrase given below.
Vasu is considered as 'the black sheep' of the family.
(\) Person datk in color, henee disliked B)  Person who takes care of the sheep
(C) Carc taker D) One with a bad reputation
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57,

58.

59,

60.

61.

62.

63.

64.

65.

Page 1 4

Choose the cotrect antonym of the given word from the options given below.

PROCRASTINATE

(A) Hurry (B) Lengthen

(C) Timid (D) Demolish

Choose the correct tense from the given options to complete the sentence.
Geetha _____ to the United Kingdom last week.

@A) Go B) Went

(C) Was gone (D) Was going

Complete the proverb :

A _____in hand is worth two in the bush.

(AA) Dog @) Bird

(€) Book (D) Rabbit

In the following question, each sentence has four portions marked P, Q, R and S.
Rearrange it in the proper sequence in order to make a meaningful sentence.
b

New regulations (P) / into force (Q) / on the storage of dangerous chemicals (R) / hgve
come (S)

(&) PSRQ " (B) PQRS
© PSQR — D) QPR
Choose the correct alternative which will improve the quoted patt of the given sentence. -
I wish you 'every luck’.

(A) Excellent B) Good

(C) The very best of luck (D) No improvement

Choose the correct synonym of the given word from the options given below.
CONTRADICT

(A) Predict ~ (B) Support

(C) External (D) Oppose

Identify the cotrect sentence from the options given below.

(A) Candy taste sweet (B) Candy tastes sweet
(C) - Candy tastes sweets (D) Candy taste sweets

Choose the cottect word/phrase to complete the following sentence.
His only chance of escape was

(A) Running B) To run

(C) For running (D) To leave as the Sun rises

Choose the correct antonym of the given word from the options given below.
DORMANT

(A)  Active B) Dreamy

(€)  Asleep D) Iavisible
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060.

67.

068.

69.

70.

71.

i

Choose the correct cdnjunction from the given options to complete the sentence.
A student will fail he does not work hard.

(\) Because 3y If

(C)  Undl D) Though

Choose from the four options, the word that best substitutes the given phrase.
Att of growing flowers, fruits and vegetables.

() Horticulture (B) lLandscaping

(C) Bonsai (D) Plantation

Choose the appropriate word to complete the sentence.
There were two small rooms in the beach house, is used as a kitchen.

(A)  The smaller of which (B) ‘The small of which
(C) The smaller of them (D) Smallest of that

Choose the correct question tag for the given sentence.

Little water was left in the pot, ?

(A) Wasn't it (B) Won't they

(C) Wasn't they (D) Wil it

Choose the correct synonym of the given word from the options given below.
COMMENCE

(A) To End (B) To Begin

(C) Nearing Finish (D) To Run

Directions (Q. 71 - 75): Read the following passage carefully and answer the questions
given below.

Some years ago, I had the privilege of meeting the world's oldest man. At least, he said he
was. And he was so dogmatic about it that the promoters of a cartoon strip that specialised
in unbelievable oddities brought the old man to New York from his native Columbia to
have him examined by a team of doctors at the Cornell Medical Centre. He was an Indian,
he was four fect four inches tall; he had an alligator-hide complexion and a tendency to
swing to his right whenever he was passed from one medico to another. He said he was
167, born the same year as the American Constitution. When the name of George
Washington was suggested to him to help him fix his generation, he said he remembered
the man well. But he resented coming all the way to New York. He wanted to be left alone
to go about his business, which at that time was the business of looking for a sixth wife to
comfort him in his approaching old age!

The old man did not like being brought 1o New York because-

(A) At that time he was busy looking for a (B)  He didn't like travelling much
sixth wife
() He didn't like New York (1) e preferred 1o be left alone in his native
‘ village

The old man was "dogmatic' about the fact that-

(A) He was four feet four inches all < (B) e was the world's oldest living, man

(€) e belonged to Columbia (I e had an alligator-hide complexion
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The cartoon-stiip ereators got interesied In Wi hecpuse-

(A) e was a comical ereature () Phey wanted 1o feattre hitr in 2 cartoon
sl o

(©) A persan surviving at that age was odd and (1) e bad the tendency of swinging to his right
unbelievable

The old man claimed that the Amerleans gave themselves a constitution-

(%) i the yeat of Geotge Washington's birth

(\)  Before he was horn
(1)) One hundted and sixty seven years ago

() Two centuries apo

George Washington's name was mentioned 1o the old man-

() To teach himy a bit of hisiory (15 "I’ know whether hie had any personal
contacts with Washington

(C)  'To make fun of his advaneed ape (1) Vo determine his age
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